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ZHE ERERE BRZDE DA FERHH 5 S i g P I AHIODAEIS

I EZ RS 56.5| A4 105 FAA 100.0[FAH 1.40|88 A+ 100.0[FA# 0.0
2 |FEHEARK 49.6| E&H 6.9| EmAt 100.0| {5 ET 0.90[FAH 60.0({S AT 0.0
3 |Es 39.3|AdbAt 6.9| gkt 100.0({#A 8 # 0.80|{5mmr 33.3|zEH 0.0
4 |EBH 32.7)/NIIF 5.7 [FEAH 100.0| E#H 0.60|E4t 33.3|mMH 0.0
5 |mtAt 30.7|FAA 4.0|ERAT 1000|EL R 0.40| Z#mEr 250|=2tREr 0.0
6 |#EATEET 30.2| 43R4 38|EEA 100.0| Z #mET 0.40 | SR AmET 25.0 | smET 0.0
7 |PIEgEy 29.9| A AT 3.5 FRIERT 100.0| 8k ST 0.40| 3 I8 BT 25.0(8R S HT 0.0
8 |/nigaET 28| 8RS HT 35|FAEE 100.0| SR #HET 0.30|E+RAT 20.0| SRAMET 0.0
9 |BAREHET 28.0| kil 3.4 REEFR 100.0|mAt 0.30|@Aa™ 20.0| 4t 0.0
10 | Raest 26.8| i 3.3|/N R 100.0| = E4 0.30|z#H 17.4| 5@+ 0.0
11| EARN 26.7 | HET 32[FEAH 100.0[#AA T 0.30| =M@+t 16.7|#aA 0.0
12 | A 26.1|FTE A 3.2| PR 100.0| 3R BT 0.20[ K& ET 12.5|$RipiET 0.0
13 |JIAf 253|E R4 3.0[KEH 100.0(Ba/r 1R 0.20|Fa EdmAT 125|807 1R 0.0
14 |FRBRR 25.0| gR#gEAT 2.9[JI1EH 100.0| A & ET 0.20| FRaHHT 12.5| R EHET 0.0
15 | & 24.4| 1L/ BT 29|EtRAE 100.0|F &t 0.20|grA 12.2|mE A 0.0
16 | EFART 24.2| AR B ET 2.8 RANET 100.0| Fahh 0.20| R & FT 11.1| e 0.0
17 | %4t 23.8|{ERET 2.7 | EbmET 100.0(gRA 0.20| 2 &FHH 8.0[gRA™ 0.0
18 | & 7xET 23.7|tERH 25| 7RET 100.0|AAH 0.20[#AK 1.8|Eam 0.0
19 | K&K 23.6 | REFET 2.5| I ma T 100.0| LA™ 0.10|Fah 78| E@A™ 0.0
20 |1RPF 23.5|FehH 24| STRIET 100.0| T #Rah AT 0.10| 8 RET 6.7 | FIRaHET 0.0
AR E Sl 23.0|By/7 4R 24|54 100.0| 8 HRHET 0.10|By/r 4R 6.3| 8RR AT 0.0
22 | KREHET 23.0| K#est 24| RAER 100.0| R EEH™H 0.10| 3B 5.4|REHH 0.0
23 |/NIF 22.6|/NfaltEET 24| /NRAE 100.0{ A 3B 0.10| EHE™ 3.6|FHH 0.0
24 | FHIRET 224 FARH 2.3| BRAmET 100.0| &+ 0.00|#E ™ 28| FAH HAFERBL
25 |=HEA 22.3| M &R 2.3| Wit 100.0| &4t 0.00| EH™ 0.8| E&#t HARREL
26 |BEF 22.3| K& 23| Bl 100.0| #Ab 4t 0.00|Ea+ 0.0 %L+t HATREL
27 |kt 22.0|JI1EAF 2.2|FEMEARA 100.0[FEA# 0.00| Es@4¢ 0.0 FEA# MARREL
28 |REA 21.7 |5+ RET 22| R4 100.0| 43R4+ 0.00| HbHt 0.0| £ k4t HATREL
29 | R&FH 21.0| =BT 2.1 3BT 100.0| £ 4t 0.00|FE A+ 00|2RrH MARREL
30 |L/ET 20.2|#EATH 2.0[/ IRt 100.0| g 0.00| &R+ 0.0 mR#EHT HAFERBL
31 |RSHET 20.0| 82 3R ET 20|gAA# 100.0|RgA & BT 0.00|ZEH 0.0|FaA & ET HARREL
32 | F&EA 20.0|8RE 1.9| b FHET 100.0| KBE+ 0.00 | BR#EA 0.0| XEEH HATREL
33 |FEARAf 19.7| =@ 1.9|KBFH 100.0{/Nr fiE T 0.00|FgA & BT 0.0|/Nfr BT HARREL
34 |B A 19.7 #8114+ 1.9|/NBET 100.0| T &4t 0.00| XK#est 0.0 Fg#t HATREL
35 |FR A 19.6| E oAy 1.8 #AJIET 100.0[ KZE# 0.00|/Nfr e T 0.0| K&EH MARREL
36 [#AJIIET 19.4| R EHET 1.8 EET 98.2|JIl 4 0.00| FH&Af 0.0{JIlE#t MARRAEL
37 | amaAET 19.1| E@A™ 17| EHH 96.6 | K FET 0.00| XZE4F 0.0| &FnET HARREL
38 |&ERH 18.8| = FRHET 1.7 91.3| &7 0.00()I| E4F 0.0| =78 MARREL
39 |FaEimt 18.6| g Ay 1.7|#EATH 90.6 | b R T 0.00| £ FNET 0.0 | pal = T HARREL
40 [F#RH 18.5| & 1.6|F 8 90.0| IZFHAT 0.00| & 7%MT 0.0|sz#iET HAFERBL
41 [#KmH 18.4|ZHm 1.6|&FH 89.5| %4 0.00|pEafir 0.0[ 54 MARREL
42 |EEH 18.4| SR ET 1.6| 8RS BT 88.9[ A+ 0.00| IZ%}ET 0.0| &#B# HATREL
43 |AEH 18.3| %4t 1.6| R & 88.9[/N\AF 0.00| %4 0.0/hx#t MARREL
44 |gEETH 18.1|F36H 1.5| AR 88.9| Lt 0.00[ A8 4 0.0 WwfzAs HAREAEL
45 | KEER 18.1| AfA# 1.5|By /7 4R 87.5[m ILF 0.00|/Ne3Hf 0.0|= Wit HARREL
46 |RFnAET 178|EHm 1.4| KRBT 87.5[mtEAH 0.00| iz At 0.0|maAAAK HAFREL
47 |REET 17.8|E At 1.4| B E A 87.5|5 IR 0.00| & At 0.0{= 114t MARREL
48 |EEH 17.5|/\m 1.3| &k AT 87.5(5thFHET 0.00[FgHEAH 0.0tz FRET MARRAEL
49 |fRABET 16.3|/haxst 1.3|=EA 83.3| kBT 0.00| )14 00| ABFE# MARREL
50 | 16.1| SR AMET 1.3|FEH 80.4 /N ET 0.00] st FH BT 0.0{/1ifpET HAFREL
51 |REHH 15.8] L+ 1.2| Fehmh 78.6|#3) 11 ET 0.00| K &FA 0.0|#)11®/T HARREL
52 [By/r 4R 15.6| @ 1LAt 1.2|8RE T 776|EHH 0.00|/INBHT 0.0|EHm HATREL
53 |[/heg 15.5|Eam 1.1 #AZRTH 77.0|fEAT 0.00| #AJI1 &7 0.0|#EA HARREL
54 |#)I# 15.4|Feimh LRN IIES 75.0| %™ 0.00[fEA™ 0.0[F%m™ HAFERBL
55 |ILUFZH 15| @A 1.1 |8 FRET 73.3|tER M 0.00|% % 0.0[ER M MARREL
56 | EE™ 14.8 |1 AFEET 1.1|REHT 7208 ™ 0.00|&ER™ 0.0[EmH HAFERBL
57 |Z¥H™ 14.8| FIRaHET 1.1 | AT T1.4|AR™ 0.00| &K ™ 00| AR MARREL
58 |RRigEAT 14.8| Bk 1.0| 4 AFEHET 71.4| Fehr 0.00| Fghri 0.0 F HATREL
59 [/NfrEET 13.9|EAt 1.0|A 70.0|/MIAF 0.00|/NI1Af 0.0{/MI#t MARREL
60 [EtRAT 13.4|BAH 1.0|/he&™ 66.7 |#4X BET 0.00|#4L FHET 0.0 |t B ET HATREL
61 |EémET 13.3|3RIET 0.9 3™ 64.9 |1 AFEET 0.00| &= A F& BT 0.0| 4= A%EHT HARREL
62 |dedt 126|REEHH 0.8| =EFET 63.6|/NgE™ 0.00[/Ng&h 0.0|/Ne&™ MRAFREL
63 |AmE 125|514+ 0.8 &8 4t 50.0| REFHT 0.00| RE7 By 0.0| REHT MARREL
64 |ILFHET 12.5|3H# 0.8| 1L/ PET 50.0 | F 8 4 0.00|F# 4 0.0|p&s ¢ MAFREL
65 |ER™ 121t AT 0.8 #4114+ 50.0{ /BT 0.00] i/ RET 0.0[ L/ ET BARREL
66 |REH 11.9|Fatktt 0.5|8R 1L 40.9[#J114F 0.00|#)I14f 0.0 #8114t MARRAEL
67 |tEATH 11.6| KBFEA 0.5| 1R ET 33.3| kil 0.00| kil 0.0[#RILTH MARREL
68 |Fahmh 11]/NET 0.4|BAK 0.0[BAH 0.00|BAK 0.0[BAH HAFREL
69 AT 10.4|44)11 87 0.4| matAt 0.0|Faseat 0.00| Btk At 0.0|Faseat MAREREL
70 |{ER=ET 9.8 | KETTH 0.0| KET G| KETH 0.00| xEr G| KETH MARRBL
71 |#ECEET 8.8|dLAEAKS 0.0 eEAKS el JbAEARK 0.00|db48A# el JbAEARK HARREL
72 |taHET 8.6 [1R P+ 0.0| 1R+t EERLLARPR 0.00[4RP1#¢ gL R B MARRBL
73 | KErTh 7.3|REHR 0.0[&EH sHRLL| RERN 0.00|F&EF EHRLL|RERN MARREL
74 |t - KRB 0.0[ KEH ELLLC PN 0.00| K+t gL KEER MARELL
75 |EAS R M= 0.0[_L#ART gL _ERART 0.00| _E¥ARY E AN MARREL
76 |BAN R 1=05T5) 0.0|BBE# =ReL| BB 0.00| BB+ =ReL| BB MARRBL
77 |3RIsET N F R RA 0.0| % RB R ExanL| B RUR R A 0.00| % ;RE BT sl FUERM | SARRSEL

REFE 156 |REFER 19 [RHE 82.6 |RHE 011|RHFE 6.0 |[REE 0.0

A 27%LLF |2 gE 909 |tk 0.16%bL.t |34 5.9%51 £ ]
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